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OEMA A

Al.a. N, B.2,y.2,0.2,e. A\

A2.1.B,2.6,3.01,4.¢,5.a

OEMA B

B1l. KED. 66.2.2 5 anod a),B),y),6),€),0t) kar )

B2. KED. 6 6.5.5 5 ano a),B),y),6),€),01) kat )

OEMA T

1. KEQ. 66.12 (XX B ZEA 294) Ta uypa TTOU CUYKEVTPWVOVTOLL
OTOUG OUAAEKTEG.....AéBNTa

2. E=pi*F*|—1000=pi*0,5*100—1000=pi*50—pi=1000/50=20bar
Pe=pi-pr— 18=20-pr—pr=20-18=2bar

OEMA A

Al. a) Mg=Ne/w—4000*103=Ne/10—Ne=4000*10*103=40000KW
B) sfc=m’g/Ne—1/20000=mp/40000—mp=40000/20000=2kg/s
A2. 200000kg/(24*3600)s=200000kg/86400s=2000kg/864s

~2,13kg/s apa enapkei opiaka
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